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ECE-320, Quiz #10
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The Bode plot of 
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 for the following closed loop system

is shown below:
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a) Assume the gain required to meet the steady state error requirement has been determined to be 1, and this gain has been included in the Bode plot above. Determine a phase lead controller so the phase margin is approximately 60 degrees. This must be done based on the Bode plot .
b) If 
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, use sisotool to determine the phase margin using your controller from part (a) and write it in the space below.
c) Using sisotool, modify your controller to meet the steady state error requirements and the phase margin to with 
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. Write down your final controller in the space below.














































































� EMBED Equation.DSMT4  ���











� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���





-





+








[image: image7.wmf]()

Gs

[image: image8.wmf]_1177149962.unknown

_1177681696.unknown

_1177681825.unknown

_1177150046.unknown

_1177149813.unknown

_1177149856.unknown

_1171694430.unknown

